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1 = commandwindow N
2= clear

= il ElC

4 — close all

D = syms m t

6 — sclution=dsolve('Dm+0.025*m=50* (1+sin(t)) "', 'm(0)=150") —_
= t=0:0.5:450 -
2= M=subs (solution, t) -
9 - plot(t,M)
10 — grid on
11
Command Window ®

)

445.0000 445.5000 446.0000 446.5000 447.0000 447.5000 448.0000 448.5000 449.0000 449.5000
Column 901

450.0000

M=

[ 150, 2000 - (2000*1e01~(1/2)*cos(atan(1l/40) + 1/2))/1601 - (2881B50*exp(-1/80)) /1601, 2000 - (2000*1&(

Jx >> v

< >




| Current

commandwindow
clear
cle
close all
sSyms t
values = []
t = 1:1:500
y = (1000) + ((50/1.0025)*sin(t)}} + (((2.5)/1.0025)*cos(t)) - (BO2.49%exp(-0.05%t))
mean| = 1000 - (800*exp(-0.05%¢))
if rem(t,2) == 0
values = [values,mean]
else
values = [values,y]
end
excelvalues = transpose(values}
mins = transpose(t)
ploti(t,values)
grid on
grid minor
xlabel ('t (mins)'}
ylabel('V(Litres)"')
xlswrite('odevbesdata.xlsx', {'timin)'}, 'veriler', 'Al')
xlswrite('ocdevbesdata.xlsx', mins, 'wveriler', 'A2')
xlswrite('ocdevbesdata.xlsx', {'V{litre}'}, 'veriler' , 'Bl')
klswrite('odevbesdata.xlsx', xlresponses, 'veriler', 'B2')
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